N = 0l & At & Ml A

20178 & =318

LI

M LXelZ ot
H: NAGH S50 - SAI/MAIE - DESF
x

Erol: XSZH BHSJANY CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
2 Xkel & Ml 20,187,390 10,971,435 9,215,955
= 379,444
Xl 1,362,888
Dl 6,124,800
& 1,443,403
= 250,000
Al 10,626,855
KNEAHM S (MY - SAIY/MARE - DEF}) 14,533,493 2,497,300 12,036,193
= 0
Xl 876,888
Dl 6,124,800
== 1,110,794
S 250,000
Al 6,171,011
NEZH 2H3AI =& 1,000, 110 1,070, 140 70,030
=2+t y 40,010 43,550 N 3,540
201 52 A Y| 2,290 2,290 0
01 Ar®2teltl 2,290 2,290 0
= 0ff & 2,290 2,290 0
O2J2LUH As2dNs dAI=E
300,000 x23] 600
O2JI2UH =38 2¢ 30,000& »23& 690
O2JIetd L AN 2N &8 EE22 M
& 2 1,000& *1,000H 1,000
301 oty Al 37,720 41,260 N 3,540
09 SAIAHEAZ 3,880 5,380 A 1,500
= 0ff &F 5,380 5,380 0
O2JI2UH |38 3,000,000& 3,000
OS2I 2UH & AHIXEH 23
10,000& x50 x23] 1,000
OSJI2ULH 39&#Ae £
20,000& *23H 33| 1,380
=Z13 ( 3,880) | ( 5,380) | ( A 1,500)
O2JI2ULH /38 2,000,000& |( 2,000) | ( 3,000) | ( A 1,000)
O2J2UH &« AHIXSH 23S
10,0002 x50H 13| | ( 500) | ( 1,000) | ( A500)
11 JIEIE A2 33,840 35,880 N 2,040
= 0ff &F 33,840 35,880 N 2,040
O=tstIIAAd A 0HEE XH 5,040
— 3N S5 6002 *60H A 200K 23] 1,440




SN

& Xtel & M

Ha: XA B (MY - ZAIY/MATE - D)
Sl NHAH LA =X CERE
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
—erolMED 30,0002 *607H 4 x23l 3,600
OSJt2UE 2BA42 100,002 *23% *128 27,600
OB 4 EXNE, HAANY M=
60,0002 +207 1,200
NEEP IS 26,920 747,820 A720,900
201 Yur2gyl 9,620 19,620 210,000
01 At 22l 1,120 11,120 10,000
=0 & 1,120 11,120 £10,000
ORSAMMUTE s SIO& A 2
70,0002 *8% *23| 1,120
03 A2 Y] 8,500 8,500 0
=0 8,500 8,500 0
OM2AHM DFI A
50,0002 ¥2 +103] 1,000
Ol 43S P 25T
1,500, 0002 *57H 7,500
203 ALEY| 9,300 9,400 A100
03 ANHZZHLRFZY] 9,300 9,400 A100
=0 9,300 9,400 A100
OXNSAM HH3 FLFA  9,300,0008 9,300
307 Q120 A 8,000 6,300 1,700
08 OIXEHES 8,000 6,300 1,700
=0 4t 8,000 6,300 1,700
OALR2RSYM 0IX2BHS
800,000 *10% 8,000
AHIT 25 33,180 28,770 4,410
201 sty 6,980 2,570 4,410
01 At 22l 2,850 2,570 280
=0 & 2,850 2,570 280
OAHIRFS yoAPIRE 310 FE+T
70,0002 %1023 »23] 1,400
OAHIX TGN DELALE
150,0002! * 1% +33] 450
OAHIT Toholy S22 M
2,0002 %5004 1,000
02 ISl 4,130 0 4,130
=213 ( 4,130) | ( 0) 4,130)
OLSEH AGX S E4AS FH2 2
e 702147, 2450 4 |( 4,130) |( 0) 4,130)
301 LsBA3 10,000 10,000 0
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& Xtel & M

Y NEEH 483 (AL - SAIY/MHAE - DE 3T
Erol: XSZH BHSJANY CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
11 JIEt2 &= 10,000 10,000
= 0l & 10,000 10,000 0
O3AN DL &3 10,000,000& *524 x20% 10,000
307 QIztol M 16,200 16,200 0
02 QIZHBAANGEX 16,200 16,200 0
= 0l & 16,200 16,200 0
O2HA ESEH KA 16,200
— =203 16,200,000& 16,200
LISJHASE XA 200,000 250,000 A 50,000
403 XXEHSTH201H 200,000 250,000 A 50,000
02 SIS OHCHS X2 X 0Hal AL HI 200,000 250,000 A 50,000
= 0l & 200,000 250,000 A 50,000
OUSJHA S8XE A 200,000,000 200,000
Eap S U DNE-C| 700,000 0 700,000
306 =3 700,000 0 700,000
01 =43 700,000 0 700,000
= 0l & 700,000 0 700,000
OQZIEESMHE == 700,000,000& 700,000
HSAE 84835 J|gt 25 13,533,383 1,427,160 12,106,223
= 0
Xl 876,888
Il 6,124,800
= 1,110,794
ES 250,000
Al 5,170,901
HEANE 2435 97,840 50,840 47,000
201 LBt 49| 52,840 35,840 17,000
01 At 2eltl 6,600 3,000 3,600
= 0ff &F 6,600 3,000 3,600
OFHAHELIFNIER = 2|
50,000& x5F 123 3,000
ORFMHEELSNIA=2SF 23
300,000& x12& 3,600
02 232293l 42,440 29,040 13,400
= 0ff & 42,440 29,040 13,400
OHSANEGHA) DUIIALEH 3223 42,440
—&IIRe3 2,541,660& x12& 30,500
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ol NAAH 2o
oelr MEANY B4

pIEEE (St &8
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
A L] 1,990, 0002 *6 2 11,940
03 A2 3,800 3,800 0
=0 4 3,800 3,800 0
OMeIAHM Jei=Il S BASYY|
50,0008 x2 x333] 3,800
307 BI20lM 45,000 15,000 30,000
02 BIHZAMASRE 45,000 15,000 30,000
=0 & 45,000 15,000 30,000
OFZLAAIY 225 HIIAE X
10,000,000 10,000
OZINE2ANE 2tetsl HIAY X2
5,000, 0002 5,000
OFSAY JYSHUSAY X 30,000
—HSANE 40 ATAs Y3E N
20,000,000 20,000
—SHSAIF #I0Z XY 10,000,000 10,000
NOZXE SHAY N (FNHZXH) 22,440 0 22,440
307 I20lH 22,440 0 22,440
02 BIHFAAYRE 22,440 0 22,440
=0 & 20,400 0 20,400
OMQIXE AASAY (ABMHLIK) X
1,700,000 »55 =122 »20% 20,400
=213 ( 22,440) | ( 20,400)| ( 2,040)
OMQIEE AASA (ABMKLIK) X
(1,700,0009! *5% * 12 %20%)+(1,700,0002 |( 22,440) | ( 20,400)| ( 2,040)
12 %62 «20%)
HENF ALS s 588,395 49,600 538,795
401 AlEHIL S 588,395 49,600 538,795
01 Al 568,395 49,600 538,795
=0 4 50,000 49,600 400
ORCIE S 2825232 4 (2H2)
25,000, 000! 204 2 50,000
=213 ( 588,395) | ( 50,000) | ( 538,395)
ORERMLANT ALSUSAIS BA
538,395,000% |( 538,395) [ ( 0)| ( 538,395)
B2 HEMEIATIE A (2N RL) 45,240 6,720 38,520
307 I2H0IH 45,240 6,720 38,520
02 BIHFMASRE 45,240 6,720 38,520
=0 4 45,240 6,720 38,520
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ol NAAH 2o
oelr MEANY B4

gt 2= (o2&
x 5 . 0 & o ol Ao -
SA B S (SH) - MEMY - BES =z T BlRE2
OasAE ZE2I| - tisMdlAs XA 7,032
— BHS 1A Q124 |
1,570,000 *1H 128 »20% 3,768
— Sdy oAyl
1,360,000 *1H 128 x20% 3,264
OLEANE HEI| - tisMHA XA 14,064
— IS IIAF 21248l
1,570,000 *1H = 12& »40% 7,536
— 24dH oAyl
1,360,000 * 1« 12& »40% 6,528
OUTUMAE B2I - HEHUIA BEA
& XA 24,144
— BHS 1A Q24|
1,570,000 »1H » 12& »40% 7,536
— 24dy oAyl
1,360,000 *1H » 12& »40% 6,528
—&E2J==0 21AHHl
700,000 *3H x 123 «40% 10,080
Zot2Z2EANE 54 200,000 0 200,000
403 NXEHMSAH=0lH 200,000 0 200,000
02 ZII2SOICHE X2 = CHEA+S I 200,000 0 200,000
=& 18 ( 200,000) | ( 0)] ( 200,000)
ORINRANE St2ZEHAE SH(1HE
&) 400,000,000 *50% | ( 200,000) | ( 0)] ( 200,000)
=SEANE &4 480,000 0 480,000
403 [XHHMSHE0IH 480,000 0 480,000
02 3J/2SO0ICHE X2 = CHel A HI 480,000 0 480,000
=218 ( 480,000) | ( 0)] ( 480,000)
OSSENE SHEMY(MEANE, DZAE
) 480,000, 000& *2JH 2 *50% | ( 480,000) | ( 0)] ( 480,000)
HSAIE AL FHH| 179,988 0 179,988
& 89,994
Al 89,994
201 et 89,988 0 89,988
= 44,994
Al 44,994
01 AtR2Zeldl 89,988 0 89,988
< 44,994
Al 44,994
=218 ( 89,988) | ( 0)] ( 89,988)
(= 44,994) | ( 0)] ( 44,994)
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oelr MEANY B4

gt = (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2

(Al 44,994) | ( 0)] ( 44,994)

OFSAE ™AL FH| 89,988,000& |( 89,988) | ( 0)] ( 89,988)

(= 44,994) | ( 0)] ( 44,994)

(Al 44,994) | ( 0)] ( 44,994)

401 AZBIZ=208I 90,000 0 90,000
= 45,000
Al 45,000

01 Al&HI 90,000 0 90,000
= 45,000
Al 45,000

=313 ( 90,000) | ( 0)] ( 90,000)

(= 45,000) | ( 0)] ( 45,000)

(Al 45,000) | ( 0)] ( 45,000)

O SAE tHAI4 FH| 90,000,000& |( 90,000) | ( 0)] ( 90,000)

(= 45,000) | ( 0)] ( 45,000)

(Al 45,000) | ( 0)] ( 45,000)

D2ALEEAIE OHAHIOIE &X AL 1,250,000 0 1,250,000
Xl 750,000
Al 500,000

401 Al&HI 220 1,250,000 0 1,250,000
Xl 750,000
Al 500,000

01 Al&UI 1,227,878 0 1,227,878
Xl 736,727
Al 491,151

= 0l &F 1,227,878 0 1,227,878
Xl 736,727
Al 491,151

OLMEBSEAE OHANE &X

1,227,878,000& 1,227,878
Xl 736,727
Al 491,151

02 Zeldl 17,908 0 17,908
Xl 10,745
Al 7,163

= 0l &F 17,908 0 17,908
Xl 10,745
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dSANE 243
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SH-EH. O (AN) - NRANY - B (X o) ) HDE2
Al 7,163
OLAZEAIZE OHAOCE &XI
1,170,411,000& *1.53% 17,908
Xl 10,745
Al 7,163
03 Al&=04tl 4,214 4,214
Xl 2,528
Al 1,686
=0l & 4,214 4,214
Xl 2,528
Al 1,686
OLALZEAIZE OHAOCE &X
1,170,411,000& *0. 36% 4,214
Xl 2,528
Al 1,686
SEURAE OHAHOE E= 79,300 79,300
Xl 47,580
Al 31,720
401 AI&BIZ 208 79,300 79,300
Xl 47,580
Al 31,720
01 Al&UI 79,300 79,300
Xl 47,580
Al 31,720
= Ol & 79,300 79,300
Xl 47,580
Al 31,720
OF&X=FAIE OHAHOE 22 79,300,000 79,300
Xl 47,580
Al 31,720
SESSAME LEDM T W 82,280 82,280
Xl 49,368
Al 32,912
401 AI&BIZ =208 82,280 82,280
Xl 49,368
Al 32,912
01 Al&HI 82,280 82,280
Xl 49,368




M LXelZ ot
3 NSEH 24
el dSANE 24

&l et 2= (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
01 Al&HI| Al 32,912
= 0l & 82,280 0 82,280
Xl 49,368
Al 32,912
OFRIFZSAIE LD ZE WX
20,570,000 =44 82,280
Xl 49,368
Al 32,912
SOISEAZE AIESHUHS AME 49,900 0 49,900
Xl 29,940
Al 19,960
401 AEBIL LY 49,900 0 49,900
Xl 29,940
Al 19,960
01 Al&H| 49,900 0 49,900
Xl 29,940
Al 19,960
= 0l & 49,900 0 49,900
Xl 29,940
Al 19,960
OJDISEAIE CCTV A 30,600,000& 30,600
Xl 18,360
Al 12,240
OJ0ISEANE LEDEHS WA
19,300, 000& 19,300
Xl 11,580
Al 7,720
Mg mENe AY 0 0 0
401  AIEHIZL201H] 0 0 0
01 Al&HI| 0 0 0
= 0l & 271,000 0 271,000
OXMEANE MEE2F L 2tT 228 d 101,000
—ANEEF 40,000, 000& =24 A~ 80,000
— 2tEH(LEDEE &) 300,000& 704 A 21,000
OXMEANE D8 L SHHINLH 70,000
— DMM T A(LEDEE) 30,000,000& 30,000
—SFANES 2L 40,000, 000& 40,000
OMNEAHE LED H2XZHAIAL 50,000, 000& 50,000
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4,885,000

4,805,536

4,805,536)

2,883,322)

480,554)
1,441,660)

4,805,536)

& 1 = 0f 4 o
(J13H)

271,000) | (

101,000) | (
80,000) | (

21,000) | (
70,000) | (
30,000) | (
40,000) | (
50,000) | (
50,000) | (
20,000) | (

30,000) | (

0)] (

0)] (

0)] (

0)] (

0)] (

ol o
< RO

50,000
20,000

30,000

4,885,000

fi

2,931,000

H

488,500
1,465,500
4,885,000

Al

fir

2,931,000

Il

WH

488,500

Al

1,465,500

4,805,536

i

Jl

2,883,322

H

480,554

1,441,660

Al

4,805,536) | (

i

2,883,322) | (

(21

480,554) | (
1,441,660) | (

H

(Al

4,805,536) | (

(

r

or
R
Y,

_O‘:J

20,000,000

2l %6 CH

o
=

5,000,000

12

Kt

0
ol
]
N
~
ok
Kk
[
K0

K0

olo

<

Kk
0H
X

700
IH
o

X
~J

olo

700
IH
o

2r
[y

pd
=
A

B

=
&

o
&l

(Ho
M0

K0

0l0

<

<0
Ki

KO0
[
Kk
30
M0

-

K0

Ho
Ko
i’

I+

A £ HI 22

401

Al & HI

01

R0

Kt

M0
%0
Ki

o

KO
=
Kk
80
M0

KO

1o
Ko
L
o+

2

4,805,536,000




A LXel 3 M

Y NEEH 483 (AL - SAIY/MHAE - DE 3T
Col MEAR a3 |8 = CLIEED
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
(21 2,883,322) | ( 0)] ( 2,883,322)
(= 480,554) | ( 0)] ( 480,554)
(Al 1,441,660) | ( 0)] ( 1,441,660)
02 Zeldl 66,990 0 66,990
= 0
J| 40,194
= 6,699
Al 20,097
=313 ( 66,990) | ( 0)] ( 66,990)
(= 0] 0« )
(21 40,194) | ( 0)] ( 40,194)
(= 6,699) | ( 0)] ( 6,699)
(Al 20,097) | ( 0)] ( 20,097)
ORISsNE SSFUHE &3 AM
4,619,953,0002 *1.45% | ( 66,990) | ( 0)|( 66,990)
(= 0)|( 0| )
(2l 40,194) | ( 0)|( 40,194)
(& 6,699) | ( 0)] ( 6,699)
(Al 20,097) | ( 0)] ( 20,097)
03 Al&=04bl 12,474 0 12,474
= 0
J| 7,484
= 1,247
Al 3,743
=313 ( 12,474) | ( 0)] ( 12,474)
(= 0] 0]« )
(21 7,484) | ( 0)] ( 7,484)
(= 1,247) | ( 0)] ( 1,247)
(Al 3,743) | ( 0)|( 3,743)
OFRISsANE SSIFUE L3
4,619,953,000& *0.27% | ( 12,474) | ( 0)] ( 12,474)
(= 0] 0] « )
(21 7,484) | ( 0)] ( 7,484)
(& 1,247) | ( 0)] ( 1,247)
(Al 3,743) | ( 0)] ( 3,743)
SHMLANE BE=XNE =4 5,323,000 0 5,323,000
= 0
Il 3,193,800
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ol NAAH 2o
oelr MEANY B4

et 2= (e &
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;lﬁ% HRE2
= 532,300
Al 1,596,900
401  AIEHIZL20iH] 5,323,000 0 5,323,000
= 0
Dl 3,193,800
= 532,300
Al 1,596,900
01 Al&Ht] 5,321,560 0 5,321,560
= 0
J| 3,192,936
== 532,156
Al 1,596, 468
=Z13 ( 5,321,560) | ( 0)|( 5,321,560)
(= 0l 0l 0)
(21 3,192,936) | ( 0)|( 3,192,936)
(= 532,156) | ( 0)|( 532, 156)
(Al 1,596,468) | ( 0)|( 1,596,468)
SEHMLEANE SEFUE T3 AM
5,321,560,000& |( 5,321,560) | ( 0)|( 5,321,560)
(= 0l ol 0)
(21 3,192,936) | ( 0)|( 3,192,936)
(= 532,156) | ( 0)] ( 532,156)
(Al 1,596,468) | ( 0)] ( 1,596,468)
03 Al 1,440 0 1,440
= 0
J| 864
< 144
Al 432
=413 ( 1,440) | ( 0)] ( 1,440)
(= 0l ol 0)
(21 864) | ( 0)|( 864)
(= 144) | ( 0)|( 144)
(Al 432) | ( 0)|( 432)
ORFHLANE SGFIUHE LS A
1,440,000€ |( 1,440) | ( 0)|( 1,440)
(= 0l 0| ( 0)
(21 864) | ( 0)] ( 864)
(= 144) | ( 0)] ( 144)
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X ZH -
L=

el

& Xtel & M
ASFH 243
3

o)
4
[pal
o

A EY - SA(B) - NS - B o) ) DS
|| (Al 432) 0) 432)
ZO0ISEANE SIMHEAY 250,000 0 250,000

x 250,000
401 AZHIZ =208 250,000 0 250,000
x 250,000
01 Al&HI 250,000 0 250,000
EN 250,000
=313 ( 250,000) 0) 250,000)
(= 250,000) 0) 250,000)
ONOIZHAT MO ¢ BRE 24
250,000,000& |( 250,000) 0) 250,000)
(= 250,000) 0) 250,000)
DR (MI=EX/ES) 3,468,964 1,899,599 1,569, 365
= 94,444
Xl 486,000
= 332,609
Al 2,555,911
LDEZM 2453 2,137,172 1,899,599 237,573
= 94,444
Xl 376,000
= 332,609
Al 1,334,119
DEEIUMY 2,000 2,500 A 500
203 YR FZH 2,000 2,500 A 500
03 AHMFAHLFAH 2,000 2,500 A 500
= Off & 2,000 2,500 A 500
Ogitelths =& 2,000,000& 2,000
ZJ| EU9REAMd 391,076 383,713 7,363
& 54,000
Al 337,076
307  glztol A 391,076 383,713 7,363
=~ 54,000
Al 337,076
11 AMISAASEES 391,076 383,713 7,363
= 54,000
Al 337,076
= 0fl & 391,076 383,713 7,363
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SA: L2 E M
H: DEHF(AZ=EX/S)
@2 DEFX 435 (cte ®
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;ﬁ% HRE2
& 54,000
Al 337,076
OPHUNAME AEoe @ D2 2
g9 849 391,076,000& 391,076
= 54,000
Al 337,076
LAy 29 61,836 54,748 7,088
101 [elals] 21,556 19,668 1,888
04 JIZHZ2ZNSE S 21,556 19,668 1,888
= Ol & 21,556 19,668 1,888
OFFLXIO JNI2tMI2 2 X 2l2H| 17,884
Pl ==1 6,4703 x5A| 2 x2H 212 x9E 12,229
— =534 6,470 x5A| 2t *2H x5 x9F 2,912
— AX=E 6,470 x5A| 2H+2H x 1 x9F 583
— 20& | 120,000& »2H »9& 2,160
ORFHLXON JN2MI 2l M2 1,897
i ==1 780& *5A| 2 +2H %21 x9 & 1,475
- =54 780& *5A| 2Fx2H 5= x9E 351
— A x=== 7803 *5Al 2t%2H 12 x9 & 71
ORI JN2MI2 2L B2 1,775
— =203 17,621,000 *45/1,000 793
—2ALE2E 17,621,000& *30.6/1,000 540
— LRI QUYEE  540,000& +65.5/1,000 36
- 118EE 17,621,000 *15/1,000 265
—MHEE 17,621,000 «8/1,000 141
201 A E2 A Y| 37,280 32,080 5,200
01 Ar®2teltl 31,300 30,100 1,200
= 0l & 31,300 30, 100 1,200
O XeldEe &I 21,600
— My =24l 10,000,000 10,000
—SMNEKX, AIRES ¢ S
600,000& 128 7,200
— ZAAEIA E A0IBZ AIEZ
1,400,000& 1,400
— XMl 29 HRFA S|
50,000 x5H x12& 3,000
ORFLXON XtEFAXHl 500,000 «2CH x9& 9,000
OFFLACIHE A L@ T2 A2
A SS9 &F HMOHA AL 280,000& *7 700
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SA: URreZE
M DY (AMIEX/=S)
c¢elr NEEX 245 (el d )
SA I B(HN) - NBAY - BaS o) ) HDE2
02 2229 5,980 1,980 4,000
20) A 5,980 1,980 4,000
ORHMLXM Xt RXHl 70,0002 *20H 9™ 1,260
O=&Lxtel Job-Cafe 2] 4,720
—®Ie2 200,0009 « 128 2,400
-4 -52E22 100,0008 62 600
— POIHHIAlAE 110,000 « 12 1,320
— R0 HHIAIAE &XIH| 400,000 400
203 AL2FXY] 3,000 3,000 0
03 AIHEXYDEXY 3,000 3,000 0
20) A 3,000 3,000 0
Oogdxelez geFa 3,000,0002! 3,000
FOHE HNAALA 29 447,000 389,000 58,000
[ 225,000
Al 222,000
101 Q4] 447,000 389,000 58,000
[ 225,000
Al 222,000
04 JIZR22USE % 447,000 389,000 58,000
[ 225,000
Al 222,000
20) A 407,000 389,000 18,000
[ 225,000
Al 182,000
OFQIME ZAASA QAHl S
407,000,000 407,000
[ 225,000
Al 182,000
=213 ( 447,000) 407,000) 40,000)
(= 225,000) 225,000) 0)
(Al 222,000) 182,000) 40,000)
OFQIME ZANSA QAHl S
447,000,0008 |( 447,000) 407,000) 40,000)
(= 225,000) 225,000) 0)
(Al 222,000) 182,000) 40,000)
Negxe WEK 35,220 11,220 24,000
201 Yt 24,000 0 24,000
01 At2zteldl 24,000 0 24,000
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SH YRR A D
2 DEOE(MI=N/=S)
Sl 8= 245 (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 0 & 24,000 0 24,000
OFISYRAMES AL ASE
24,000,0002 24,000
202 Oft 1,440 1,440 0
01 =Uhoibl 1,440 1,440 0
= 0l & 1,440 1,440 0
OYNAUERD LEN 0fH|
120,0002! 1% +122 1,440
01 YprEaz 9,780 9,780 0
09 AR NS 9,780 9,780 0
= 0 4 9,780 9,780 0
OgnAUESD BHAs =Xyl
2,100,0002 2,100
OYLRUEHNIHS slolas +9
40,0002 +20Z *122 *80% 7,680
MEIEZH 84 N2 53,480 52,480 1,000
201 Yur2YHl 20,480 19,480 1,000
01 AtRZ2lH| 5,480 4,480 1,000
=0 4 4,480 4,480 0
OMBIHBHSHIANE S sloFa+Y
70,0002 +8% *83] 4,480
=13 ( 5,480) 4,480) 1,000)
OMBIZIIY S52Y B2 43S
1,000,000 |( 1,000) 0) 1,000)
02 2z 15,000 15,000 0
= 0 4 15,000 15,000 0
OABIGUZH XIYH 2 5 Y|
15,000, 0002 15,000
203 YLEHI 3,000 3,000 0
03 AMETYLEZY 3,000 3,000 0
= 0] & 3,000 3,000 0
OMBIHEHIIY L2SL 257
3,000,0002 3,000
307 120l H 30,000 30,000 0
1 ANESTAYEE 30,000 30,000 0
= 0 4 30,000 30,000 0
OR&EE ASINIY FY 30,000,000 30,000
MEIEIIY 2B .8 KR 134,920 126,429 8,491
2 94,444
= 6,071
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SA: L2 E M
H: DEHF(AZ=EX/S)
@2 DEFX 435 (cte ®
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
Al 34,405
307 QIz2tol ™ 134,920 126,429 8,491
= 94,444
& 6,071
Al 34,405
11 MISIAMEEX 134,920 126,429 8,491
= 94,444
== 6,071
Al 34,405
= 0l & 134,920 126,429 8,491
= 94, 444
== 6,071
Al 34,405
OASI &I &2 - 84 XJAALY
134,920,0008! 134,920
= 94, 444
== 6,071
Al 34,405
A EDIE AtSIEE =2 K& 50,000 59,337 N9,337
Xl 35,000
Al 15,000
307 212t0l A 50,000 59,337 N9, 337
Xl 35,000
Al 15,000
11 AMIASXAEEXR 50,000 59,337 N9,337
Xl 35,000
Al 15,000
= 0l & 50,000 59,337 N9,337
Xl 35,000
Al 15,000
OAgl &I M EE= XI& 50,000,000& 50,000
Xl 35,000
Al 15,000
AZEDY FHAHS LK 421,000 501,000 A 80,000
Xl 316,000
Al 105,000
307 Q12t01 A 421,000 501,000 A 80,000
Xl 316,000
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SN

=S

PSP ]E_%‘\l:g(/dil%ll/_‘.—_%)
@2 DEFX 435 (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
307 QIz2tol & Al 105,000
11 Al SXAIEE X 421,000 501,000 80,000
Xl 316,000
Al 105,000
= 0l & 421,000 501,000 A 80,000
Xl 316,000
Al 105,000
OAISIEIIY FHUEANS LAl K&
421,000,000& 421,000
Xl 316,000
Al 105,000
ASIHBMAEEH 29 195,074 171,584 23,490
201 Bt AH| 120,084 147,824 N2T7,740
01 AR22lyl 22,760 19,700 3,060
= Ol & 22,760 19,700 3,060
OMSEZMHEEH 29 5,760
— SANSK S AIRES 7
300,000& x12& 3,600
— U M3 X & 72 100,000 =128 1,200
—YW2L)| A= 20,000 *3CH x12& 720
— 2§ dxz= 240,000 = 1CH 240
ONSRAMHE 2% A2E S|
50,000 x5H x12& 3,000
OMESHEBM 222 M 14,000
— SEAAIZ EE M HE OFLH2H X+
7,000& *1,0005 7,000
— A EE MM S JtC2 1
5,000& *1,000 5,000
— EFHAASEHAHAEH EE22E M
5,000& *200H x2= 2,000
02 =524l 32,324 22,124 10,200
= 0l & 32,324 22,124 10,200
OMIEIMHEH 29 10,800
— ROoIAHAAE 2K 150, 000& =128 1,800
—SITADUE(ASEZEZE) 100,000 128 1,200
— HASAH| 650,000& 128 7,800
OAMNSHIHEEH 3322 12,120
— &2 3 750,000 x12& 9,000
— A ERS Y T AJIA
100, 000& *12& 1,200
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Ex5: dXel 3 M
. NEFH(MIEXN/LS)
o9 NBEN 23 (sl @9
SN HE B (BA) - MEAY - BHAS o @(ijf;ﬁ% HRE2
— &g 2 oHYURZ 160, 000& =128 1,920
OAMSIHBHAE Xt 22 4,630
— S Xlbl 300,000& 10 =12& 3,600
—332=2 % HMAYI 200,000& = 1CH 200
— g SEEgHEE= 830, 000& 830
OEZHOIX X2l & B
300,000& «12& 3,600
(@Fak—2=DNK:| 2,470& *475m° 1,174
03 AI2FHI| 65,000 106,000 A 41,000
= Ol & 75,000 106,000 A 31,000
OASIEEHM HAEEY 44 ,000,000& 44,000
OAMSIEEH /3S 9,000,000 9,000
OAMEIEZHM O0t2tdl 0l 5,000,000& *43| 20,000
OAMSIHEH Z 1,000, 000& *23] 2,000
=213 ( 65,000) | ( 75,000) | ( A 10,000)
OASIHEHM HAEHY 34,000,000 |( 34,000) | ( 44,000) | ( A 10,000)
202 04| 7,200 5,760 1,440
01 Z2LWAHI 7,200 5,760 1,440
= 0l & 7,200 5,760 1,440
OAMSHIHAEH SR2FE 0l
120,000 x5 128 7,200
401 AEBIZL LY 38,000 0 38,000
01 Al&H| 38,000 0 38,000
= 0ff & 38,000 0 38,000
OAMSIHAMAE AMRA 2 A 38,000,000& 38,000
405  XHaHFE S 29,790 0 29,790
01 XMME=SSFSHI 29,790 0 29,790
= 0l & 29,790 0 29,790
OeAaHoYE 28 #¢ 29,790
—ANRE A 220,000& =254 5,500
— A28 X 180, 000& 254 4,500
— HCt A& 300,000 *5JH 1,500
— el & 100, 000& *30H4 3,000
— 398 X 270,000& =174 4,590
— 398 oK 100, 000& =344 3,400
— 2 200,000& =14 200
—LE= 1,200, 000& *5CH 6,000
— NI&D]| 850,000 = 1CH 850
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2 LRl ZH
FH: DEH(AM=EX/=S)
cel: NEEN BH3 CERT
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
| | — 50,0002 *5H 250
o201 s4 XA 50,000 50,000 0
Xl 25,000
Al 25,000
307 glztol A 50,000 50,000 0
Xl 25,000
Al 25,000
11 AMISAAMBEE 50,000 50,000 0
N 25,000
Al 25,000
= 0ff &F 50,000 50,000 0
Xl 25,000
Al 25,000
OottsJ1d s ALY 50,000,000& 50,000
Xl 25,000
Al 25,000
2 X2l S AL 25,000 2,500 22,500
201  LEt2I| 25,000 2,500 22,500
01 At 2eltl 25,000 2,500 22,500
= 0l & 25,000 2,500 22,500
OLXelSAIH, HHILXel & EES A
Sy 5,000,000& 5,000
OLRelANd S - ARHI HE&HL S
5,000,000& 5,000
Ogitels&l& &5 /325 15,000,000 15,000
S201e FHASXN A 44,100 0 44,100
= 22,050
Al 22,050
307  glztol & 44,100 0 44,100
& 22,050
Al 22,050
02 UAHABLAASEX 44,100 0 44,100
= 22,050
Al 22,050
= 0l &F 44,100 0 44,100
== 22,050
Al 22,050
Os2J1g HIXS ALY 44,100,000& 44,100
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Y RO D
o DROH (A=K /= S)
Sl 8= 245 (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 22,050
Al 22,050
RN 4,500 4,500
201 Qw2 4,500 4,500
03 A2l 4,500 4,500
= 0 4 4,500 4,500
OZBRIM S 500,0002! 23] 1,000
OR&EA ZRIN SUES 2 Yoy =2
e 3,500
—EAH AR, H4US 222 HE
,440,0002! 1,440
— AR A 70,0002 %23| *4% 560
~ZOTAAS 1,500,0002 1,500
LMY HH 105,000 105,000
201 Yer2 55,000 55,000
03 A2 55,000 55,000
=00 & 55,000 55,000
OASHHEY ZHHS 10,500
~ 222 S 8FHl Y 7,000,0008 7,000
— ALY 70,0002 *5% *43] 1,400
—HE) AHEHS 1,000,002 1,000
—N&3 1,100,0002 1,100
OASMHYEY As M2 HEY
300,000 *5& *103] 15,000
OA&MA AAWOIY AT
3,500, 0008 +23] 7,000
OAMHK AAWOIY AN HEY
300,0002! *5& *153] 22,500
307 Q120 H 50,000 50,000
1 AMESTAYEE 50,000 50,000
= 0l &t 50,000 50,000
OASMHEY BAUS ANEs S4
50,000,00024 50,000
WAE 5lYUXIRIAY 50,976 50,976
= 25,488
Al 25,488
101 oIyl 50,000 50,000
= 25,000
Al 25,000
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2 LRl ZH
FH: DEH(AM=EX/=S)
cel: NEEN BH3 CERT
SH-EH. O (AN) - NRANY - B o ) HDE2
04 JIZtHZZ2NSE =+ 50,000 0 50,000
= 25,000
Al 25,000
= 0l & 50,000 0 50,000
= 25,000
Al 25,000
OUAE S| UT2IALY 1A
50,000,000& 50,000
= 25,000
Al 25,000
201  LEt2I| 976 0 976
= 488
Al 488
01 AtS2teltl 976 0 976
= 438
Al 488
= Ol &F 976 0 976
= 488
Al 488
OUAE S NCIAMY LBt I
976,000& 976
= 488
Al 488
SERIE LT 490 0 490
201  Et2I| 490 0 490
01 At 2eltl 490 0 490
=313 ( 490) 0) 490)
OZHRUAS Ffas 4o
70,0003 x7E *13] | ( 490) 0) 490)
CHetE T LRl dE XN (2HEFXS) 62,500 0 62,500
307 QIztol M 62,500 0 62,500
02 QIZBAAMNGEX 62,500 0 62,500
=218 ( 62,500) 0) 62,500)
OUSEETLXlME K& 62,500,000& |( 62,500) 0) 62,500)
TteldEe 2FAE EOt 3,000 0 3,000
201 LBt 49H| 3,000 0 3,000
01 At 2eltl 3,000 0 3,000
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SN
X ZH -
L=

el

ol

=
)
i

X2l Z Mot
2ot (MEIEX/cE)
=2 b

o
& gdst

S

o)
4
[pal
o

SA BB (AH) - HBAY - BA= o) ) HDE 2
=313 ( 3,000) 0) 3,000)
OYLXeldEH ¥ 22 M 3,000,0002 |( 3,000) 0) 3,000)
SS2Z ALY 1,331,792 0 1,331,792
= 0
Xl 110,000
Al 1,221,792
zzo2AY 1,091,792 0 1,091,792
= 0
Al 1,091,792
101 oIl 1,087,792 0 1,087,792
= 0
Al 1,087,792
04 JI2ZtHZ22HSE* 1,087,792 0 1,087,792
= 0
Al 1,087,792
= 0f ar 1,087,792 0 1,087,792
= 0
Al 1,087,792
OSSZZ A 21| 1,087,792,000& 1,087,792
= 0
Al 1,087,792
201  EtI| 4,000 0 4,000
01 AtSR22ldl 4,000 0 4,000
= 0l & 4,000 0 4,000
O332ZAY LEr2FH| 4,000,000& 4,000
NGBsH LAtelArd 240,000 0 240,000
Xl 110,000
Al 130,000
101 ol24| 236,000 0 236,000
Xl 110,000
Al 126,000
04 JIZtHZZ2NSE=> 236,000 0 236,000
N 110,000
Al 126,000
= 0l &F 236,000 0 236,000
Xl 110,000
Al 126,000
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SN

Atel & &l ot

PRSI %%QE(MEEXU_‘.—_%)
He: S22 ALY (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;lﬁ% HRE2
OXNGssH LXelArg oAy
236,000, 000& 236,000
Xl 110,000
Al 126,000
201 B2 A Y| 4,000 0 4,000
01 Ar®2telt] 4,000 0 4,000
= 0ff &F 4,000 0 4,000
OXNESSH LdXelAg det2Ab|
4,000,000& 4,000
CANDEESE 45 (AY - SADY/MARE - DEF 1,868,990 1,927,989 A58,999
)
= 285,000
Al 1,583,990
AN AI2E 5 L 22K & 1,868,990 1,927,989 A 58,999
= 285,000
Al 1,583,990
CAEE Y 22X AL 147,139 147,139 0
201 B2 A Y| 4,800 4,800 0
01 Ar®2telt] 4,800 4,800 0
= 0ff A 4,800 4,800 0
OSUAERA £=¢ 200,000 x2H x12& 4,800
307 212t0| A 142,339 142,339 0
02 QU2tFAAMNHEX 82,339 82,339 0
= 0ff A 82,339 82,339 0
OL=x?2t8 % 2k 1= 14,810,000& 14,810
OZ22ANMAAIE L DEAY 16,800,000 16,800
O MNEBEEAMEHEA 29 50,729,000& 50,729
04 OQIZISHALAIRE B = 60,000 60,000 0
= 0ff A 60,000 60,000 0
OZ22X ¥ &L S23tH A
45,000,000& 45,000
O2 2 MESHA XA 15,000, 000& 15,000
CAZEBRME X 126,900 158,432 A31,532
307 QIz2tol & 126,900 122,000 4,900
02 CIZtEAMAIEE =X 126,900 122,000 4,900
= 0l & 126,900 122,000 4,900
OLANBS =X sEIHY AIY
126,900, 000& 126,900
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A LXel 3 M

H: CADEES BHE (MY FAI|Y/MATE - DTS
Bl AV ASS HE Y I2XN=X 55X (9 d
x s . Of &t o8 & & 0 A o -
N33 .2 (3H)- - MEEAY - EHES (Z= o) (713 o) HusZ
HEAN22X N2MH 29 150,539 110,664 39,875
307 QIO H 150,539 110,664 39,875
05 QI2t9lera 150,539 110,664 39,875
= 0f ot 150,539 110,664 39,875
OHERANZ2X NAME 22|
150,539, 0002 150,539
=X 2d 929,347 868,948 60,399
201 sty 1,800 1,400 400
01 Ar2 a2y 1,800 1,400 400
=0 o 1,800 1,400 400
O22=2TAA INFL ALAY N8
300,000 ¥2& 374 A 1,800
307 QIO H 927,547 867,548 59,999
05 QI2t9lera 927,547 867,548 59,999
= 0f &t 927,547 867,548 59,999
O2RNVES=XZ VALY 294
470,197,000 470,197
OS2 32 02 e 29|
433,248,0002 433,248
O2RNVE=NZ T2 1A
24,102,000 24,102
X AQIY B2E8s X 254,065 124,322 129,743
= 35,000
Al 219,065
201 Ysr2oy| 2,730 2,520 210
01 Ar2 a2l 2,730 2,520 210
=0 o 2,730 2,520 210
OLANDINES S 3o &ML
70,0002 13 *33| 2,730
202 OfHl 8,000 0 8,000
= 0
Al 8,000
04 = &0l 8,000 0 8,000
= 0
Al 8,000
=213l ( 8,000) | ( 0)|( 8.,000)
(=2 0)]( 0)| ( 0)
(Al 8,000) | ( 0)|( 8.,000)
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SN

& Xtel & M

HaM: LAICIASS SH5H(AY - SAD|Y/MHRE - DEF}
S@e: ANMLAE2E F3 & 220X S8 (CHe &)
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
O AOIE 8 243 23Atdl oA
4,000,000& x2H |( 8,000) | ( 0) 8,000)
(= 0l 0) 0)
(Al 8,000) | ( 0) 8,000)
307 212t0l A 240,335 121,802 118,533
= 35,000
Al 205,335
02 OCIZHEMAIEE =X 137,960 40,000 97,960
= 35,000
Al 102,960
= 0l & 129,960 40,000 89,960
= 40,000
Al 89,960
O ANSIESEESHS MY 129,960, 000& 129,960
= 40,000
Al 89,960
=213 ( 137,960) | ( 129,960) 8,000)
(= 35,000) | ( 40,000) A5,000)
(Al 102,960) | ( 89,960) 13,000)
O MOIEEEESHG AY 137,960,000 |( 137,960) | ( 129,960) 8,000)
(= 35,000) | ( 40,000) A5,000)
(Al 102,960) | ( 89,960) 13,000)
03 CIZIHHEESIHEX 102,375 81,802 20,573
= 0ff & 85,923 81,802 4,121
OZASIHEAIR= &9 85,923,000& 85,923
=Z13 ( 102,375) | ( 85,923) 16,452)
OLAMSEANR= 24 102,375,000& |( 102,375) | ( 85,923) 16,452)
402 QIZ2tXIE0l ™ 3,000 0 3,000
01 QIAXN2AMAEX (A 3,000 0 3,000
=413 ( 3,000) | ( 0) 3,000)
O ASIHEAIR= 28 2¢ 3,000,000& |( 3,000) | ( 0) 3,000)
NEadorss AXelzE XA 261,000 0 261,000
= 250,000
Al 11,000
307 212t0| A 261,000 0 261,000
= 250,000
Al 11,000
02 QI2tFAAHEX 261,000 0 261,000
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SN

& Xtel & M

HaM: LAICIASS SH5H(AY - SAD|Y/MHRE - DEF}
OY: AV ASE B QL aZN=X = CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
02 CIZHEMAIEE =X = 250,000
Al 11,000
= 0ff &F 520,000 0 520,000
= 485,000
Al 35,000
OoXNgugarsd dXel&EE NS A
520,000,000& 520,000
= 485,000
Al 35,000
=2&13 ( 261,000) 520,000) A 259,000)
(= 250,000) 485,000) A 235,000)
(Al 11,000) 35,000) A24,000)
OXNSHeESY X2 EHE XNSJAS
261,000,000& |( 261,000) 520,000) A 259,000)
(= 250,000) 485,000) A 235,000)
(Al 11,000) 35,000) A24,000)
NESAXILH(US/EM - MNAENK) 40,000 40,000 0
mE=2:Ns[DNE=] 40,000 40,000 0
Jlsdllusa 3o N 40,000 40,000 0
308 AXEHMSOIA 40,000 40,000 0
08 wWEI|&0HsE = 40,000 40,000 0
= 0l & 40,000 40,000 0
OJIsdlIUz td Zz2)d29 3
40,000,000 40,000
HMSAAY (LRSI Z M) (IIEH/DIE) 275,943 228,789 47,154
ol 2 A Y| 206,603 170,709 35,894
ol 2AH| 206,603 170,709 35,894
101 o124 4| 206,603 170,709 35,894
02 JIEtEE = 206,603 170,709 35,894
= 0l & 236,167 170,709 65,458
ORFAASEHIHAE AMAESMSIIH
ol 21 H| 187,955
-Jesuas) 3,282,500& x 1P x12& 39,390
-Jesta) 2,859,580& x 1P x12& 34,315
—-Jeses) 2,519,580& x1H x12& 30,235
—-JI23((0t2) 1,710,580& »2H ~12& 41,054
—JEE 80,000 x5H x12& 4,800
— NESHHIE XS 446,700 x5 *43| 8,934
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Atel & &l ot

ul
40
]
o

0
0y

2A P (L2l B M) (IIEHIIE)
29 H
- - _ 0l &FoH & S T 0] AFoH
A . (3 AH) - HEMY - BHHES 2 = ol (913 o1)
—AZEXH(L2)
250,000 35/40% 19 » 122 2,625
— XNZEXH (L)
155,0009 35/40% 19 « 122 1,628
— 2P XY (2t2)
140,0002! x35/40+1H 122 1,470
— XNZEXHI(0I2)
105,0009 %35/40%2% 122 2,205
—Fugaly 130,000 x5% 122 7,800
— G AHI (LIS)
3,282,500 x84%*86%+1/30%1/7x 1 x42 Al 2t 475
— L2 AHHI (T 2)
2,859,580 x84%*86%+1/30%1/7+1% «42 Al 2+ 414
— ¢t AH| (213)
2,519,580 x84%*86%+1/30%1/7x 1% x42 Al 2t 365
— GJIE AHI(OL2)
1,710,580 x84%*86%+1/30%1/7+2% «42 Al 2+ 495
—ER2R+E(U2)
9,4982 »1H «28A| 2t 12 3,192
—ZU2RHE(T2)
8,27421 x1H 28 Al 2+ + 128 2,781
—xZnIEY(e3)
7,291 x1H 28 Al 2+ + 128 2,450
—ZU222H(0I3)
4,95091 x2 9 x28 Al 2+ * 122 3,327
ORFHAMEEHAMLAE A2 H A H
282 18,911
—20aA3 187,955,000% *45/ 1,000 8,458
—ALEE 187,955,000 «30.6/1,000 5,752
— Lo QU
5,752,000 *65.5/1,000 377
—nEYs 187,955,000 *15/1,000 2,820
— MBS 187,955,000 8/ 1,000 1,504
OZAASH LNRUERD 29 Al2td
EAHI DI M QA 26,644
—Jl=3(3) 1,818,160 x 1 » 1228 21,818
— X2 YR 105,000 x35/40+1H « 122 1,103
— FHUZAY| 130,000 x 1 » 122 1,560
— I AtH|
1,818, 160 x84%*86%+1/30%1/7*63 Al 2+ 395
— ZU2RAE 5,261 x1Hx28AI 2122 1,768
OZAASE LNRAUERD 29 Al2tH
BHAINN EE2 2,657
— =203 26,644,000 *45/1,000 1,199
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SN

X XH -
S =

cel: oleis o] (sl @9
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
—H2AEE 26,644 ,0002 *30.6/1,000 816
—LOoMIRAESE 816,000 *65.5/1,000 54
- 1s88d 26,644 ,000& *x14/1,000 374
—MHEE 26,644 ,000& *8/1,000 214
=&313 ( 206,603) 236, 167) N 29,564)
ORFAAISEHIAMAE AMAESMSIIH
ol 21| ( 148,977) 187,955) N 38,978)
-Jesus) 3,282,500 x 1 68 | ( 19,695) 39,390) A 19,695)
-Jests) 2,859,580 x 1 x6& | ( 17,158) 34,315) A17,157)
—XZEXH(U2)
250,000 «35/40«1& 68 |( 1,313) 2,625) A 1,312)
— NS EXHI(CZ)
155,000 *35/40x1H 6 | ( 814) 1,628) A814)
OFRFAAISEHIHMAE AMAESMSIIH
2t El&Z2 130,000 302 »(881L /3652 ) |( 9,414) 0) 9,414)
=34dhl 69,340 58,080 11,260
Jl23Hl 69,340 58,080 11,260
201 282 A Y| 33,460 25,080 8,380
01 Ar®2telt] 26,520 21,600 4,920
= 0ff & 26,520 21,600 4,920
OB MESgII23| 26,520
=] 40,000& x22H x12& 10,560
— =l 50,000& x22H x12& 13,200
— S8 gz 230,000& «12& 2,760
02 33294l 6,940 3,480 3,460
= 0ff A 4,000 3,480 520
ORE= &5 4,000,000& 4,000
=Z13 ( 6,940) 4,000) 2,940)
ORE=S &5 6,940,000& |( 6,940) 4,000) 2,940)
202  0dd| 31,680 28,800 2,880
01 2L 31,680 28,800 2,880
= 0l & 31,680 28,800 2,880
OgRF=&XII20Y| 120,000& x»22H x12& 31,680
203 Y= 4,200 4,200 0
04 ENSIIERF=AY| 4,200 4,200 0
= 0ff &F 4,200 4,200 0
ORNMSIHRFXY| 350,000& «12& 4,200
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